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NEW QUESTION 1
- (Topic 1)
Your organization meant to purchase a 3-year Committed Use Discount, but accidentally purchased a 1-year Committed Use Discount instead. What should your
organization do?

A. Contact your financial institution.
B. Contact Trust and Safety.C Contact Cloud Billing Support.
C. Contact Technical Support.

Answer: C

Explanation: 

https://cloud.google.com/compute/docs/instances/signing-up-committed-use-discounts

NEW QUESTION 2
- (Topic 1)
Your organization needs to allow a production job to have access to a BigQuery dataset. The production job is running on a Compute Engine instance that is part
of an instance group.
What should be included in the IAM Policy on the BigQuery dataset?

A. The Compute Engine instance group
B. The project that owns the Compute Engine instance
C. The Compute Engine service account
D. The Compute Engine instance

Answer: C

Explanation: 
 When an identity calls a Google Cloud API, BigQuery requires that the identity has the appropriate permissions to use the resource. You can grant permissions by
granting roles to a user, a group, or a service account.
Reference link- https://cloud.google.com/bigquery/docs/access-control

NEW QUESTION 3
- (Topic 1)
Your organization needs to ensure that the Google Cloud resources of each of your departments are segregated from one another. Each department has several
environments of its own: development, testing, and production. Which strategy should your organization choose?

A. Create a project per department, and create a folder per environment in each project.
B. Create a folder per department, and create a project per environment in each folder.
C. Create a Cloud Identity domain per department, and create a project per environment in each domain.
D. Create a Cloud Identity domain per environment, and create a project per department in each domain.

Answer: B

Explanation: 

Your Partner of IT Exam visit - https://www.exambible.com 



We recommend you to try the PREMIUM Cloud-Digital-Leader Dumps From Exambible
https://www.exambible.com/Cloud-Digital-Leader-exam/ (304 Q&As)

Reference link- https://cloud.google.com/resource-manager/docs/creating-managing- folders
Reference link- https://stackoverflow.com/questions/59460623/how-to-create-a-folder-a-project-under-it-with-deployment-manager-google-cloud

NEW QUESTION 4
- (Topic 1)
Your organization needs to minimize how much it pays for data traffic from the Google network to the internet. What should your organization do?

A. Choose the Standard network service tier.
B. Choose the Premium network service tier.
C. Deploy Cloud VPN.
D. Deploy Cloud NAT.

Answer: A

Explanation: 

Choose the Standard network service tier. While Premium tier is the default for all egress traffic and offers the highest performance, when cost is a consideration.
Standard tier is the more economical.

https://cloud.google.com/blog/products/networking/networking-cost-optimization-best- practices

NEW QUESTION 5
- (Topic 1)
Your manager wants to restrict communication of all virtual machines with internet access; with resources in another network; or with a resource outside Compute
Engine. It is expected that different teams will create new folders and projects in the near future.
How would you restrict all virtual machines from having an external IP address?

A. Define an organization policy at the root organization node to restrict virtual machine instances from having an external IP address
B. Define an organization policy on all existing folders to define a constraint to restrict virtual machine instances from having an external IP address
C. Define an organization policy on all existing projects to restrict virtual machine instances from having an external IP address
D. Communicate with the different teams and agree that each time a virtual machine is created, it must be configured without an external IP address

Answer: A
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Explanation: 
Reference: https://cloud.google.com/resource-manager/docs/organization-policy/overview

NEW QUESTION 6
- (Topic 1)
Your organization is running all its workloads in a private cloud on top of a hypervisor. Your
organization has decided it wants to move to Google Cloud as quickly as possible. Your organization wants minimal changes to the current environment, while
using the maximim amount of managed services Google offers.
What should your organization do?

A. Migrate the workloads to Google Cloud VMware Engine
B. Migrate the workloads to Compute Engine
C. Migrate the workloads to Bare Metal Solution
D. Migrate the workloads to Google Kubernetes Engine

Answer: B

Explanation: 
Migrate for Compute Engine enables you to lift and shift workloads at scale to Google Cloud Compute Engine with minimal changes and risk.
Reference: https://dataintegration.info/simplify-vm-migrations-with-migrate-for-compute-engine-as-a-service

NEW QUESTION 7
- (Topic 1)
Your company has recently acquired three growing startups in three different countries. You want to reduce overhead in infrastructure management and keep your
costs low without sacrificing security and quality of service to your customers.
How should you meet these requirements?

A. Host all your subsidiaries' services on-premises together with your existing services.
B. Host all your subsidiaries' services together with your existing services on the public cloud.
C. Build a homogenous infrastructure at each subsidiary, and invest in training their engineers.
D. Build a homogenous infrastructure at each subsidiary, and invest in hiring more engineers.

Answer: B

Explanation: 
 Host all your subsidiaries' services together with your existing services on the public cloud.

NEW QUESTION 8
- (Topic 1)
Which of the following is/are true about Bare Metal Solutions?

A. Enterprise-grade deployment platform
B. All your existing investment in tooling and best practices will work as is
C. Continue to run any version, and feature set, any database option, and any cus- tomizations (patchsets)
D. All of the Above.

Answer: D

Explanation: 
 Bare Metal Solution for Oracle
Bring your Oracle workloads to Google Cloud with Bare Metal Solution and jumpstart your cloud journey with minimal risk.
- Continue to run any version, any feature set, any database option, and any customizations (patchsets)
- Enterprise-grade deployment platform
- High availability with Oracle RAC
- Works with any application, any Oracle versions
- All your existing investment in tooling and best practices will work as is

NEW QUESTION 9
- (Topic 1)
An organization wants to dynamically adjust its application to serve different user needs. What are the benefits of storing their data in the cloud for this use case?

A. Data can be stored in archive for long term access
B. Automatic data cleaning and validation
C. Real-time data ingestion and analysis
D. No data access management required

Answer: C

Explanation: 

By storing their application data in the cloud the organization will be able to gather and analyze user behavior data in real-time. This will enable them to
dynamically adjust their application for different user needs.

NEW QUESTION 10
- (Topic 1)
A retail store has discovered a cost-effective solution for creating self-service kiosks. They can use existing check-out hardware and purchase a virtual customer
service application. Why do they also need an API?
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A. To connect the check-out hardware to the public cloud.
B. To connect the new application with the legacy system.
C. To migrate all customer data for disaster recovery.
D. To update the check-out hardware remotely.

Answer: B

Explanation: 
 APIs can create new business value by connecting legacy systems (the checkout hardware) with new software (the virtual customer service application).

NEW QUESTION 10
- (Topic 1)
Your company security team manages access control to production systems using an LDAP directory group.
How is this access control managed in the Google Cloud production project?

A. Assign the proper role to the Service Account in the project's IAM Policy
B. Grant each user the roles/iam.serviceAccountUser role on a service account that exists in the Google Group.
C. Assign the proper role to the Google Group in the project's IAM Policy.
D. Create the project in a folder with the same name as the LDAP directory group.

Answer: C

Explanation: 
Reference: https://cloud.google.com/blog/products/identity-security/achieving-identity-and-access-governance-on-google-cloud

NEW QUESTION 12
- (Topic 1)
A video game organization has invested in cloud technology to generate insights from user behaviors. They want to ensure recommendations of games are
aligned to players' interests. What may have prompted this business decision?

A. Customers expect faster time to market for games.
B. Employees expect source code changes to be deployed faster.
C. Customers expect a personalized experience.
D. Employees expect more predictable data management spending.

Answer: C

Explanation: 
 Because in the cloud era, users expect more personalization and customization.

NEW QUESTION 13
- (Topic 1)
Which Google Cloud product is designed to reduce the risks of handling personally identifiable information (PII)?

A. Cloud Storage
B. Google Cloud Armor
C. Cloud Data Loss Prevention
D. Secret Manager

Answer: C

Explanation: 
Reference: https://cloud.google.com/blog/products/gcp/take-charge-of-your-sensitive-data-with-the-cloud-dlp-api
Cloud Data Loss Prevention: Fully managed service designed to help you discover, classify, and protect your most sensitive data.

NEW QUESTION 14
- (Topic 1)
Which Google Cloud service or feature lets you build machine learning models using Standard SQL and data in a data warehouse?

A. BigQuery ML
B. TensorFlow
C. AutoML Tables
D. Cloud Bigtable ML

Answer: A

Explanation: 
BigQuery ML lets you create and execute machine learning models in BigQuery using standard SQL queries.
Reference: https://cloud.google.com/bigquery-ml/docs/introduction#:~:text=BigQuery%20ML%20lets%20you%20create,the%20need%20 to%20move%20data
Graphical user interface, text, application, email Description automatically generated
https://cloud.google.com/bigquery-ml/docs/introduction

NEW QUESTION 15
- (Topic 3)
An organization is looking for a storage solution that will help them serve content to users worldwide. They need a solution that offers a high level of availability
What feature of Cloud Storage would they benefit from?
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A. Global metadata
B. Object versioning
C. Data encryption
D. Multi-regional storage

Answer: D

NEW QUESTION 18
- (Topic 3)
An organization has servers running mission-critical workloads on-premises around the world. They want to modernize their infrastructure with a multi-cloud
architecture.
What benefit could the organization experience?

A. Ability to disable regional network connectivity during cyber attacks
B. Ability to keep backups of their data on-premises in case of failure
C. Full management access to their regional infrastructure
D. Reduced likelihood of system failure during high demand events

Answer: D

NEW QUESTION 20
- (Topic 3)
An organization wants to build autoscaling web applications without having to manage application infrastructure
Which Google Cloud product should they use?

A. App Engine
B. AutoML
C. Anthos
D. Apigee

Answer: A

Explanation: 
 Per Google docs, App Engine, allows for "freeing up your developers with zero server management and zero configuration deployments".
https://cloud.google.com/appengine

NEW QUESTION 21
- (Topic 3)
Why is data stored in Google Cloud secure and private?

A. Data is encrypted by the Security Command Center
B. Data is encrypted by Cloud Data Loss Prevention
C. Data is encrypted by default
D. Data is encrypted when an appropriate tag is applied

Answer: C

Explanation: 
 https://cloud.google.com/docs/security/encryption/default-encryption#:~:text=Google%20uses%20the%20Advanced%20Encryption,to%202015%20t
hat%20use%20AES128

NEW QUESTION 22
- (Topic 3)
An organization wants to leverage tooling and automation as part of its new DevOps philosophy.
Which operational challenge will this resolve?

A. Repetitive manual tasks that hinder workflows
B. Time-consuming supervision of creative tasks
C. Distribution and supply-chain issues
D. Defective technical equipment that limits innovation

Answer: A

NEW QUESTION 23
- (Topic 3)
An organization provides a loyalty program for its customers. It recently partnered with other businesses so that customers can get loyalty points at a range of
other stores.
Why should the organization use application programming interfaces (APIs)?

A. To migrate all partner data for disaster recovery
B. To analyze and publish loyalty program statistics to a dashboard
C. To personalize recommendations for loyalty card users
D. To connect third-party systems to ensure up-to-date information

Answer: D

NEW QUESTION 26
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- (Topic 3)
An organization wants to add a new function to their application. They want to write the code and let the public cloud provider handle the infrastructure.
Which infrastructure solution should they use?

A. Virtual machines
B. Bare Metal Solution
C. Serverless computing
D. Container Registry

Answer: C

Explanation: 
 Serverless computing , as public cloud prouder(eg. google) will mange the infra things

NEW QUESTION 31
- (Topic 3)
An organization needs a platform to create custom end-to-end artificial intelligence models. Which Google Cloud product or service should the organization use?

A. Dataproc
B. Compute Engine
C. Recommendations AI
D. Vertex AI

Answer: D

Explanation: 
 Recommendations AI enables you to build an end-to-end personalized recommendation system based on state-of-the-art deep learning ML models, without a
need for expertise in ML or recommendation systems. With Vertex AI, both AutoML training and custom training are available options. Whichever option you
choose for training, you can save models, deploy models, and request predictions with Vertex AI. https://cloud.google.com/vertex-ai

NEW QUESTION 35
- (Topic 3)
An organization is looking for a business intelligence solution that allows individual employees and end users to analyze business data and generate insights.
Which Google Cloud product or service should the organization use?

A. Looker
B. Cloud Spanner
C. BigQuery
D. Dataflow

Answer: A

NEW QUESTION 40
- (Topic 3)
A food delivery service needs access to real-time menu information from all partner restaurants. They also need to share customer order information with the
restaurants in real time.
What should the organization use?

A. Site reliability engineering (SRE)
B. An application programming interface (API)
C. A customized machine learning model
D. A multi-regional database

Answer: B

NEW QUESTION 44
- (Topic 3)
An organization is migrating their business applications from on-premises to the cloud. How could this impact their operations and personnel costs?

A. Reduced on-premises infrastructure management costs
B. Increased on-premises hardware maintenance costs
C. Reduced cloud software licensing costs
D. Increased cloud hardware management costs

Answer: A

NEW QUESTION 47
- (Topic 3)
An organization wants to write and run small pieces of code in a serverless way that respond to events like huge discounts.
Which Google Cloud compute solution should the organization use?

A. Google Kubernetes Engine
B. Cloud Functions
C. Bare Metal Solution
D. Compute Engine

Answer: B
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NEW QUESTION 50
- (Topic 3)
What is logging within the context of cloud technology?

A. Writing application and operating system events as text
B. Monitoring network and resource limitations
C. Tracking source code across an organization
D. Recording infrastructure and hardware expenditure

Answer: A

Explanation: 
 Cloud Logging is a fully managed service that allows you to store, search, analyze, monitor, and alert on logging data and events from Google Cloud and Amazon
Web Services

NEW QUESTION 53
- (Topic 3)
Several departments in an organization are working together on a project. The organization wants to customize access to resources for each department.
What is the quickest and most efficient way to achieve this?

A. By mapping IAM roles to job functions for each department
B. By assigning IAM primitive roles to each employee
C. By applying least-privilege to roles for each employee
D. By creating a single shared service account for all departments

Answer: A

NEW QUESTION 56
- (Topic 3)
A retail organization has moved all of their inventory data to a relational database in the cloud.
What functionality does a relational database offer?

A. It analyzes unstructured data which can then be accessed in multiple regions
B. It stores transactional data which can then be accessed electronically
C. It stores large amounts of raw data in its original format
D. It rapidly analyzes large and multi-dimensional datasets

Answer: B

Explanation: 
 A relational database offers the functionality of storing transactional data, which can then be accessed electronically. Relational databases store structured data
that can be organized in tables with defined relationships between them. This makes them well- suited for transactional data, such as inventory data, that needs to
be accessed and updated frequently.

NEW QUESTION 60
- (Topic 3)
An organization is using machine learning to make predictions. One of their datasets
mistakenly includes mislabeled data. How will the prediction be impacted?

A. Increased risk of privacy leaks
B. Increased risk of inaccuracy
C. Decreased model compatibility
D. Decreased model training time

Answer: B

NEW QUESTION 64
- (Topic 3)
An organization wants to develop an application that can be personalized to user preferences throughout the year.
Why should they build a cloud-native application instead of modernizing their existing on- premises application?

A. Developers can rely on the cloud provider for all source code
B. Developers can launch new features in an agile way
C. IT managers can migrate existing application architecture without needing updates
D. IT managers can accelerate capital expenditure planning

Answer: B

NEW QUESTION 67
- (Topic 3)
An organization cannot afford to modernize their infrastructure but they want to process data from their legacy system in a modern platform hosted by a business
partner
What solution should the organization choose to make their data accessible?

A. Compute Engine
B. Anthos
C. An application programming interlace
D. Google Kubernetes Engine

Your Partner of IT Exam visit - https://www.exambible.com 



We recommend you to try the PREMIUM Cloud-Digital-Leader Dumps From Exambible
https://www.exambible.com/Cloud-Digital-Leader-exam/ (304 Q&As)

Answer: C

NEW QUESTION 68
- (Topic 2)
Your customer has a reporting tool that is only occasionally used by the leadership team. Usage of it is frequent - once a week, once a month, or once the quarter.
They want to run this application in a cost-effective manner. What are the compute options available on Google Cloud which would be suitable? (Choose Two
answer)

A. Cloud Run
B. Cloud App Engine Standard
C. Compute Engine
D. Kubernetes Engine

Answer: AB

Explanation: 
 Since the use of the tool is infrequent/intermittent, you can choose to compute options that are serverless. Both Cloud Run and Cloud App Engine Standard are
serverless options that can shut down to zero. Since cost-effectiveness is a requirement, this will not cost anything during the periods it is not used.

NEW QUESTION 72
- (Topic 2)
You are working with a user to set up an application in a new VPC behind a firewall and it is no-ticed that the user is concerned about data egress. Therefore, to
provide assistance you want to con-figure the fewest open egress ports. Which of the following statement is correct?

A. Set up a high-priority (1000) rule that blocks all egress and a low-priority (65534) rule that allows only the appropriate ports.
B. Set up a low-priority (65534) rule that blocks all egress and a high-priority rule (1000) that allows only the appropriate ports.
C. Set up a high-priority (1000) rule to allow the appropriate ports.
D. Set up a high-priority (1000) rule that pairs both ingress and egress ports.

Answer: B

Explanation: 
 Implied rules Every VPC network has two implied firewall rules. These rules exist, but are not shown in the Cloud Console:
Implied allow egress rule. An egress rule whose action is allow, destination is 0.0.0.0/0, and priority is the lowest possible (65535) lets any instance send traffic to
any destination, except for traffic blocked by Google Cloud. A higher priority firewall rule may restrict outbound access. Internet access is allowed if no other
firewall rules deny outbound traffic and if the instance has an external IP address or uses a Cloud NAT instance. For more information, see Internet access
requirements.

Reference link- https://cloud.google.com/vpc/docs/firewalls

NEW QUESTION 74
- (Topic 2)
DriveSuper Inc. teaches its clients to drive cars and bikes and helps them get their license. They are planning to build a mobile application where users can sign
up, plan their schedules, and take stock of progress. They want the onboarding process to be smooth and frictionless, giving users a great experience from the get-
go. They want this done as quickly as possible and not be expensive. What is their best option on Google Cloud?

A. Build the mobile app with Cloud SQL as the backend
B. Build the mobile app with Cloud Storage as the backend
C. Build the mobile application with Firebase as the backend
D. Build the mobile app with Cloud Spanner as the backend

Answer: C

Explanation: 
 Firebase/Firestore is easy to build and is suitable for user information that could bvary in nature.

NEW QUESTION 77
- (Topic 2)
Google offers Firebase, In terms of Firebase Console, any particular message that has to be deliv-ered to a customer at a certain degree of change in behavior
can be managed through________.

A. A/B testing
B. Notification Composer
C. Firebase Remote config.
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D. None of the above

Answer: B

Explanation: 
 You can send notification messages using the Notifications composer in the Firebase console. Though this does not provide the same flexibility or scalability as
sending messages with the Admin SDK or the HTTP and XMPP protocols, it can be very useful for testing or for highly targeted marketing and user engagement.
The Firebase console provides analytics-based A/B testing to help refine and improve marketing messages.
After you have developed logic in your app to receive messages, you can allow non- technical users to send messages per the instructions on the Notifications
page in the Firebase Help Center.

NEW QUESTION 82
- (Topic 2)
A financial services company is running an experimental application workload that has a very large number of mathematical calculations involving floating-point
numbers. The current application that is running on compute engine is not providing enough speed and throughput. What are the options to increase the
processing performance?

A. Use a serverless option like Cloud Functions that will automatically scale as much as required.
B. Instead of using a "general purpose" machine family, use "compute-optimized" machine family.
C. Since processing could also be dependent on reading and writing data to the disk, use a fast Local SSD.
D. Attach GPUs to the virtual machine for number crunching.

Answer: D

Explanation: 
 Compute Engine provides graphics processing units (GPUs) that you can add to your virtual machines (VMs). You can use these GPUs to accelerate specific
workloads on your VMs such as machine learning and data processing. https://cloud.google.com/compute/docs/gpus

NEW QUESTION 85
- (Topic 2)
A developer in your IT team is cheating a bucket on Cloud Storage. He is receiving an error that the bucket name already exists. He has checked his project and
the few other pro-jects in the organization, The name seems to be entirely unique, What would be the is-sue?

A. Bucket names ignore any "." in the nam
B. Look for similar bucket names that have a "." in it.
C. Previously deleted bucket names in the same project cannot be reuse
D. There must have been an older bucket with the same name.
E. Bucket names in Cloud storage have to be globally unique
F. Bucket name are case insensitive- look for bucket name in your org that have a different capitalization.

Answer: C

Explanation: 
 Bucket names have to be unique across Google Cloud Platform [GCP], Including other organizations and projects.

NEW QUESTION 86
- (Topic 2)
Which Firebase quality tools help the developer track, prioritize & fix stability issues that erode the application quality?

A. Performance
B. App Distribution
C. Crashlytics
D. Test Lab

Answer: C

Explanation: 
 Firebase Crashlytics:
Get clear, actionable insight into app issues with this powerful crash reporting solution for iOS, Android, and Unity.
Firebase Crashlytics is a lightweight, real-time crash reporter that helps you track, prioritize, and fix stability issues that erode your app quality. Crashlytics saves
you troubleshooting time by intelligently grouping crashes and highlighting the circumstances that lead up to them.
Find out if a particular crash is impacting a lot of users. Get alerts when an issue suddenly increases in severity. Figure out which lines of code are causing
crashes.

NEW QUESTION 89
- (Topic 2)
Which of the following statements is / are correct about Machine Learning?

A. Machine learning examples include chatbots and automated virtual assistants to automate routine customer service tasks and speed up issue resolution.
B. Machine learning automates the job of building statistical models with Human In-tervention.
C. Robotic process automation (RPA) can not be attached with ML.
D. None of the Above.

Answer: A

Explanation: 
 Customer service
Machine learning examples include chatbots and automated virtual assistants to automate routine customer service tasks and speed up issue resolution.
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NEW QUESTION 91
- (Topic 2)
Your company has signed up with a cloud provider and you will be using storage and vir- tual machines with the provider. The provider has provided your
organization some expec- tations for what the service should perform at. What type of agreement provides a guar- antee of a certain level of service such as
“Uptime”?

A. Performance Agreement
B. Interconnection Agreement
C. Warranty
D. Service Level Agreement

Answer: D

Explanation: 
 Service Level Agreement (SLA)
A service level agreement (SLA) is a contract between a service provider (either internal or external) and the end user that defines the level of service expected
from the service provider. Some common SLA’s are uptime, Response Time, etc.

NEW QUESTION 93
- (Topic 2)
One of your clients is in the retail sector. They have a small team supporting their operations and a small development team taking care of application
development. They have heard of the benefits of machine learning, but they do not have the capacity to hire data scientists or the work to retain them. They have a
team of analysts who works
primarily on BigQuery and knows how to run SQL queries. They want to be able to get into the new age of machine learning and artificial intelligence. What options
are available to run on Google Cloud?

A. Use the popular open-source libraries SciPy and NumPy to create machine learn-ing models.
B. Use the Unified AI Platform to create a custom TensorFlow model.
C. Use BigQuery ML to create machine learning models using SQL queries.
D. Integrate the Cloud Vision API and the Cloud Speech API to create a custom mod-el that will suit the retail sector.

Answer: C

Explanation: 
 BigQuery ML allows you to create ML models using standard SQL queries. Those familiar with BigQuery and ML will be able to create ML models with just a basic
understanding of machine learning.
https://cloud.google.com/bigquery-ml/docs/

NEW QUESTION 98
- (Topic 2)
While on-premise, an enterprise had multiple teams, each with its own analytics data store. Attempts to converge the storage for centralized, company-wide
analysis failed because of speed and scaling issues. What would be the preferred destination architecture on Google Cloud?

A. Migrate to Bigtable which provides high throughput reads and writes.
B. Migrate to Cloud Spanner as a globally scalable SQL database.
C. Migrate to BigQuery as a central data warehouse.
D. Migrate to Cloud SQL which supports multiple databases like MySQL, PostgreSQL, and SQL Server - all of the customer's SQL databases can be
accommodated here.

Answer: C

Explanation: 
 BigQuery is the data warehousing option on Google Cloud. Since the source data has already been used for analysis, it should easily fit the BigQuery structure
too.

NEW QUESTION 100
- (Topic 2)
You are a program manager in a company and handling a project and you need to create a virtual machine on google cloud console that will be very simple to set
up, by flipping a bit via command, API, or with developer console that gives you 30 seconds to shut down when you’re preempted, allow you to save your work
that also helps in the company budget upto 70-80% of less charges than the regular VMs.

A. Bare Metal Solutions
B. Preemptible Virtual Machines.
C. Google Cloud VM Instances
D. None of the above.

Answer: B

Explanation: 
 Preemptible VMs have all these features
Simple configuration
Create a preemptible instance simply by flipping a bit via command, API, or developer console.
Easy extensibility
Attach GPUs and local SSDs to preemptible instances for additional performance and savings.
Graceful shutdown
Compute Engine gives you 30 seconds to shut down when you're preempted, letting you save your work in progress for later.
Large scale computing
Spin up as many instances as you need and turn them off when you're done. You only pay for what you use.
Quickly reclaim capacity
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Managed instance groups automatically recreate your instances when they're preempted (if capacity is available).
Fixed pricing
Preemptible VMs have fixed pricing up to 80% off regular instances. They show up on your bill separately so you'll see just how much you're saving.

NEW QUESTION 101
- (Topic 2)
Which of the following is true while creating a boot persistent disk from a snapshot.

A. You cannot apply a snapshot to an existing persistent disk, or apply a snapshot to persistent disks that belong to a different project than that snapshot.
B. It is only possible to apply data from a snapshot when you first create a persistent disk.
C. After you create a snapshot of a boot persistent disk, you can apply data from that snapshot to new persistent disks.
D. All of the above.

Answer: D

Explanation: 
 When you create a virtual machine (VM) instance, you must also create a boot disk for the VM. You can use a public image, a custom image, or a snapshot that
was taken from another boot disk. When you create a boot disk, limit the disk size to 2 TB to account for the limitations of MBR partitioning.
Compute Engine automatically creates a boot persistent disk when you create an instance. If you require additional data storage space for your instances, add one
or more secondary instance storage options.
You might need to create a standalone boot persistent disk and attach it to an instance later, or resize a boot persistent disk to improve performance and add more
space for additional applications or operating system files. That process is described in Add or resize a persistent disk.
As a best practice, do not use regional persistent disks for boot disks. In a failover situation, they do not force-attach to a VM.
After you create a snapshot of a boot persistent disk, you can apply data from that snapshot to new persistent disks. It is only possible to apply data from a
snapshot when you first create a persistent disk. You cannot apply a snapshot to an existing persistent disk, or apply a snapshot to persistent disks that belong to
a different project than that snapshot.

NEW QUESTION 102
- (Topic 2)
You're negotiating SLAs with a customer. You have communicated that there will be a 99.99% (four 9s) availability for the service you are providing. Every aspect
of the service is under your con-trol. They want to modify the reliability to 99.999% (five 9s). What do you tell them? (Choose two answer)

A. Yes, that could be possibl
B. If yes, there will be a significantly higher charge be-cause the effort is significantly higher too.
C. Yes, that is possible, but there will be an additional charge of 9% for the service because that is the additional effort required.
D. Yes, that is possibl
E. There is hardly any difference to provide another 0.009% availability.
F. Ask them for the reasonable downtime they are willing to absor
G. If it is more than 60 minutes in an entire year, explain how the current SLA meets that requirement.

Answer: AD

Explanation: 
 In many cases, customers might not know the implications of the 9s with respect to scheduled maintenance, upgrades, etc. It's possible that they are holding
unnecessary expectations that significantly exceed their requirements.
-> Even though 0.0009 % increase it looks like a small increment, an addition of a single 9 reduces the possible downtime by 10 times. So the effort is often much
greater.
Reference link- https://en.wikipedia.org/wiki/High_availability

NEW QUESTION 105
- (Topic 2)
A customer of yours has an SLA with their client that a particular service will respond within 4 sec-onds. The end client has reported that it feels slower. Your
engineers do a trial at the client site and notice that there seems to be a delay for many of the requests. It's your team's responsibility to iden-tify the issue quickly
within the strict timeline for fixes according to the contract, and then fix it. What should you do?

A. Recommend a move to serverless technologies which will scale automatically on demand.
B. Add logging statements at multiple points in the application, build it, and deploy i
C. Now new requests will give us information on latency in the logs.
D. Check if the browsers used by the client are different from your
E. If they are, that's most likely the issu
F. Ensure that everybody uses the latest version of the browser that you are also using.
G. Use Cloud Trace to collect latency data and track how requests propagate and why there is a delay.

Answer: D

Explanation: 
 Cloud Trace is a built-in tool in the Operations suite to identify issues like latency.
-> Such fixes are unlikely to change core issues like the service itself being architected or written sub-optimally. Though changes like browser, networking, etc. are
helpful, it would be the wrong approach to first recommend that the customer upgrade all their hardware and software.
-> Rewriting code and logging information is going to be time consuming. In general though, logging should always be included in code and it can give good
insights. But tracing is way more specific and comprehensive for this requirement.
-> In certain cases, we might identify scaling as the issue. But we should first identify the core problem. So, start with tracing. We can also achieve scale in server-
ful technologies.
Reference link- https://cloud.google.com/trace

NEW QUESTION 106
- (Topic 2)
Which of the following statements is/are true about Cloud Spanner offered by Google Cloud Plat-form.
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A. It can scale horizontally to support additional capacity.
B. It comes with Zero Downtime, No Maintenance windows, and is proven for large and small workloads.
C. You don't need to shard or replicate data.
D. All of the above.

Answer: D

Explanation: 
 Cloud Spanner:
Fully managed relational database with unlimited scale, strong consistency, and up to 99.999% availability.
- Get all the benefits of relational semantics and SQL with unlimited scale
- Start at any size and scale with no limits as your needs grow
- Enjoy high availability with zero scheduled downtime and online schema changes
- Deliver high-performance transactions with strong consistency across regions and continents
- Focus on innovation, eliminating manual tasks with capabilities like automatic sharding.

NEW QUESTION 110
- (Topic 2)
What according to you are NOT the key capabilities of In-App Messaging?

A. Target messages accordingly to the change in the behavior pattern of the target audience.
B. Creating customized and flexible alerts
C. Increasing conversion for user-to-user sharing
D. Sending relevant messages to the target audience

Answer: C

Explanation: 
 In-App Messaging
Engage active app users with contextual messages.
Firebase In-App Messaging helps you engage users who are actively using your app by sending them targeted and contextual messages that nudge them to
complete key in-app actions - like beating a game level, buying an item, or subscribing to content.

NEW QUESTION 111
- (Topic 2)
Cloud Data Loss Prevention (DLP) is a fully managed service designed to help discover, classify, and protect the most sensitive data. DLP provides three key
features (Select Three Answers)

A. Classification
B. De-identification
C. De-classification
D. Inspection
E. Reinspection

Answer: ABD

Explanation: 
 Classification. De-classification and Inspection
Classification is the process to inspect the data and know what data we have, how sensitive it is, and the likelihood. Inspection and classification happen here.
De-identification is the process of removing, masking, replacing information from data.
Reference link- https://cloud.google.com/dlp/docs

NEW QUESTION 116
- (Topic 2)
The Border Security Agency has hired your software services firm to build an application for them that will collect information about visas stamped on passports.
You are given stamped images. You have to find out which country issued the visa and the period of validity. Pull out this data and put it into a database. Which of
these applications would be suitable for that?

A. Use Cloud Vision API - write code to identify the text blocks, copy the data, and store it
B. Use TensorFlow - write code that will identify the type of visa and the bounding text block
C. Copy the data and then store it.
D. Use AutoML - upload other images of visas and run the model creation process which will automatically identify the visas
E. Use Data Labeling service - outsource the work of marking and extracting the in-formation to others.

Answer: A

Explanation: 
Cloud Vision API allows you to programmatically identify images, text, etc. in the document. This would be the best option.
https://cloud.google.com/vision

NEW QUESTION 119
- (Topic 2)
You are looking for a one stop reference page for GCP support. What Page would you se- lect?

A. Compliance Hub
B. Google Cloud Platform Status
C. Support Hub
D. Pricing Page
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Answer: C

Explanation: 
Google provides a page that brings together everything needed around support. Its called the Support Hub
Reference link- https://cloud.google.com/support-hub

NEW QUESTION 124
- (Topic 2)
Your client's IT environment has so far been on-premises. They run a mix of applications and data-bases on Linux and Windows. They want to move to Google
Cloud in the easiest manner possi-ble. What are their best options?

A. Compute Engine with VMs with either Linux or Windows OS.
B. App Engine Standard
C. Cloud Functions
D. Cloud Run

Answer: A

Explanation: 
 Compute Engine allows you to allocate VMs with different OSs - Windows and Linux, included.

NEW QUESTION 129
- (Topic 2)
What service is a fully managed real-time messaging service that allows you to send and receive messages between independent applications.

A. Cloud Datastore
B. Cloud Pub/Sub
C. Cloud DNS
D. Cloud BigTable
E. Cloud Spanner

Answer: B

Explanation: 
 Google Cloud Pub/Sub is a scalable, durable event ingestion and delivery system.
-> Pub/Sub allows services to communicate asynchronously, with latencies on the order of 100 milliseconds.
-> Pub/Sub is used for streaming analytics and data integration pipelines to ingest and distribute data. It is equally effective as messaging-oriented middleware for
service integration or as a queue to parallelize tasks.
-> Pub/Sub enables you to create systems of event producers and consumers, called publishers and subscribers. Publishers communicate with subscribers
asynchronously by broadcasting events, rather than by synchronous remote procedure calls (RPCs).
Reference link- https://cloud.google.com/pubsub/docs/overview

NEW QUESTION 131
- (Topic 2)
A bank wants to track the success of their existing ATM network, which has been modernized with APIs to instantly notify customers about their transfers. What is
the benefit of using Apigee to achieve this goal?

A. It has dashboards that chart dimensions and metrics to report on APIs.
B. It replicates banking APIs to create new business value.
C. It measures and tracks their total cost of ownership (TCO).
D. It allows developers to connect the banking APIs with the public cloud.

Answer: A

Explanation: 
 Apigee includes analytics services which allow enterprises to report on various aspects of an API.

NEW QUESTION 134
- (Topic 2)
All Google Cloud Platform services are associated with a project that is used to provide what functions?

A. Manage Container Deployments
B. Enable Services and APIs
C. Manage DNS Services
D. None of the Above

Answer: B

Explanation: 
 The recommended approach is to have folders corresponding to teams/departments and they manage the projects within that.
-> Sharing a single project will cause a conflict of resources, billing, concerns, etc.
-> One folder per project is unnecessary overuse of abstraction/grouping.
-> Teams and projects in a company should ideally be centrally managed in a single Organization.

NEW QUESTION 138
- (Topic 1)
Your organization needs to build streaming data pipelines. You don’t want to manage the individual servers that do the data processing in the pipelines. Instead,
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you want a managed service that will automatically scale with the amount of data to be processed.
Which Google Cloud product or feature should your organization choose?

A. Pub/Sub
B. Dataflow
C. Data Catalog
D. Dataprep by Trifacta

Answer: B

Explanation: 

Reference: https://cloud.google.com/dataflow/docs/guides/deploying-a-pipeline
Reference link- https://cloud.google.com/dataflow/docs/guides/deploying-a-pipeline

NEW QUESTION 139
- (Topic 1)
Your organization is on a critical path with recently developed applications. They are going into production in a month. A few million users are expected to use the
new application. They want to ensure minimum disruption when the application goes live. Any issues have
to be dealt with within minutes and resolved as quickly as possible. Which Support package should they take?

A. Enhanced Support
B. Standard Support
C. Basic Support
D. Premium Support

Answer: D

Explanation: 
 Premium Support will have a 15-minute response time with 24/7 response for high & criti- cal-impact issues.

https://cloud.google.com/support

NEW QUESTION 144
- (Topic 1)
Your organization runs an application on virtual machines in Google Cloud. This application processes incoming images. This activity takes hours to create a result
for each image. The workload for this application normally stays at a certain baseline level, but at regular intervals it spikes to a much greater workload. Your
organization needs to control the cost to run this application.
What should your organization do?

A. Purchase committed use discounts for the baseline load
B. Purchase committed use discounts for the expected spike load
C. Leverage sustained use discounts for your virtual machines
D. Run the workload on preemptible VM instances

Answer: C

Explanation: 
The idea of the Sustained Use discount is that the longer you run a VM instance in any given month, the bigger discount you will get from the list price.
Reference: https://www.parkmycloud.com/blog/google-sustained-use-discounts/

NEW QUESTION 149
- (Topic 1)
Your application is onboarding a number of users. The details of the users very widely. What kind of database would be most suitable for this use case?

A. NoSQL database like Firestore
B. OLAP database like BigQuery which support SQL
C. SQL database like MySQL or PostgreSQL
D. OLTP database like Cloud Spanner

Answer: A

Explanation: 
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* 1. NoSQL databases are best suited for this use case. Firestore is an appropriate one to use here
* 2. Cloud Firestore is a NoSQL document database that lets you easily store, sync, and query data for your mobile and web apps - at global scale.

NEW QUESTION 153
- (Topic 1)
Your organization needs to categorize objects in a large group of static images using machine learning. Which Google Cloud product or service should your
organization use?

A. BigQuery ML
B. AutoML Video Intelligence
C. Cloud Vision API
D. AutoML Tables

Answer: C

Explanation: 

Reference: https://cloud.google.com/vision
Derive insights from your images in the cloud or at the edge with AutoML Vision or use pre- trained Vision API models to detect emotion, understand text, and
more.
Vision API offers powerful pre-trained machine learning models through REST and RPC APIs. Assign labels to images and quickly classify them into millions of
predefined categories. Detect objects and faces, read printed and handwritten text, and build valuable metadata into your image catalog.

NEW QUESTION 155
- (Topic 1)
An organization currently stores its data on-premises and they receive different levels of traffic on their website every month. How could the organization benefit
from modernizing their infrastructure with cloud technology?

A. They can rely on the cloud provider for all website source code.
B. Agile storage scalability.
C. 100% service availability.
D. They can shift from heavy operational expenditure to a capital expenditure model.

Answer: B

Explanation: 

Organizations can scale in the cloud by paying for what they use, when they use it.

NEW QUESTION 156
- (Topic 1)
An organization wants to search for and share plug-and-play AI components which can easily build ML services into their project. Which Google Cloud product
should the organi- zation use?

A. Document AI
B. AI Hub
C. Cloud Talent Solution
D. Recommendations AI

Answer: B

Explanation: 
Because AI Hub is a hosted repository of plug-and-play AI compo-nents. Reference link:- https://cloud.google.com/ai-hub/docs/release-notes

NEW QUESTION 157
- (Topic 1)
An organization with hybrid cloud architecture wants to build an application once and be able to run it both on-premises and in their public cloud. Which Google
Cloud solution should the organization use?

A. Cloud Functions
B. App Engine
C. Compute Engine
D. Anthos

Answer: D

Explanation: 
 Anthos allows organizations to build an application once and run it anywhere.
Migrate directly from VMs, Build, deploy, and optimize apps on GKE, Anthos serverless landing zones and VMs anywhere-simply, flexibly, and securely
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Reference Link- https://cloud.google.com/anthos

NEW QUESTION 158
- (Topic 1)
What conditions be true if a VM interface wants to send packets to the external IP addresses of Google APIs and services using Private Google Access?

A. VM interface does not have an external IP address assigned.
B. VM interface is connected to a subnet where Private Google Access is disabled
C. Both A and B
D. None of the Above.

Answer: A

Explanation: 
 A VM interface can send packets to the external IP addresses of Google APIs and services using Private Google Access if all these conditions are met:
- The VM interface is connected to a subnet where Private Google Access is enabled.
- The VPC network that contains the subnet meets the network requirements for Google APIs and services.
- The VM interface does not have an external IP address assigned.
- The source IP address of packets sent from the VM matches the VM interface's primary internal IP address or an internal IP address from an alias IP range.
A VM with an external IP address assigned to its network interface doesn't need Private Google Access to connect to Google APIs and services. However, the
VPC network must meet the requirements for accessing Google APIs and services.

NEW QUESTION 162
- (Topic 1)
Your organization uses Active Directory to authenticate users. Users’ Google account access must be removed when their Active Directory account is terminated.
How should your organization meet this requirement?

A. Configure two-factor authentication in the Google domain
B. Remove the Google account from all IAM policies
C. Configure BeyondCorp and Identity-Aware Proxy in the Google domain
D. Configure single sign-on in the Google domain

Answer: D

Explanation: 
 Configure single sign-on in the Google domain
Single sign-on: Whenever a user needs to authenticate, Google Cloud delegates the authentication to Active Directory by using the Security Assertion Markup
Language (SAML) protocol. This delegation ensures that only Active Directory manages user credentials and that any applicable policies or multi-factor
authentication (MFA) mechanisms are being enforced. For a sign-on to succeed.
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https://cloud.google.com/architecture/identity/federating-gcp-with-active-directory- introduction
Reference Link- https://cloud.google.com/architecture/identity/single-sign-on

NEW QUESTION 165
- (Topic 1)
Your team is using BigQuery as your central data warehouse. You are running a certain workload that you've run frequently over the last few days. It is a short,
high capacity ana- lytics workload. Which of the following would be an appropriate pricing model to use?

A. There is no need for any pricing model the first 1 TB of query data processed per month is free.
B. On-demand pricing
C. Flex Slots
D. Flat-rate reservations

Answer: C

Explanation: 
Option A is Correct- BigQuery Flex Slots for cyclical workloads that require extra capacity, or for workloads that need to process a lot of data in a short time, and so
would be less expensive to run using reserved slots for a short time.

NEW QUESTION 166
- (Topic 1)
You are a program manager within a Software as a Service (SaaS) company that offers rendering software for animation studios. Your team needs the ability to
allow scenes to be scheduled at will and to be interrupted at any time to restart later. Any individual scene rendering takes less than 12 hours to complete, and
there is no service-level agreement (SLA) for the completion time for all scenes. Results will be stored in a global Cloud Storage bucket. The compute resources
are not bound to any single geographical location. This software needs to run on Google Cloud in a cost-optimized way.
What should you do?

A. Deploy the application on Compute Engine using preemptible instances
B. Develop the application so it can run in an unmanaged instance group
C. Create a reservation for the minimum number of Compute Engine instances you will use
D. Start more instances with fewer virtual centralized processing units (vCPUs) instead of fewer instances with more vCPUs

Answer: A

Explanation: 

https://cloud.google.com/compute/docs/instances/preemptible

NEW QUESTION 171
- (Topic 1)
An organization has had a data leak scare because one employee made a sensitive Cloud Storage bucket available to the public. Given the nature of the
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company's business, it is understood that there is never any reason to give the public direct access to any file. The
security head wants to ensure that such an event never occurs again. How can you ensure this?

A. Remove Edit access rights of all Cloud Storage buckets so that no user can make any edits.
B. Set an organizational policy constraint to restrict bucket access set to the public.
C. Use Cloud Scheduler to run a job at a specified interval to scan bucket
D. Any public permissions can be programmatically changed.
E. Write Cloud Functions code connected to Cloud Storag
F. Any changes will be notified to the function which can be used to reset the public access.

Answer: B

Explanation: 
 The straightforward way to set it is using Organizational Policy constraint. Any attempts to change the organizational setting will be rejected for any project and
resource.

References link:
-> https://cloud.google.com/resource-manager/docs/organization-policy/overview
-> https://cloud.google.com/resource-manager/docs/organization-policy/org-policy- constraints

NEW QUESTION 172
- (Topic 1)
A multinational retail company has approached you to help design its systems. They have millions of transactions at their point of sale systems across the world
that need to be captured, stored, and analyzed. They are seeing more growth and expect to expand into even more geographies. Which database would be
appropriate for them?

A. Cloud Datastore
B. Cloud Storage
C. Cloud Spanner
D. Cloud SQL

Answer: C

Explanation: 

Cloud Spanner: "Fully managed relational database with unlimited scale, strong consistency, and up to 99.999% availability."
Reference:- https://cloud.google.com/spanner

NEW QUESTION 174
- (Topic 1)
A Multiple projects within your organization have long-term VM usage. Based on current demand, they are able to project into the future and estimate how many
VM hours they will use every year. Going in for a committed use contract seems sensible. How can you configure committed use easily across all the projects?

A. Enable committed use with discount sharing for the projects
B. Review the usage of resources by each project on a daily basi
C. Enable committed use for the following day based on that number, so that it gives maximum granularity without wastage.
D. Take a report of each project's use in the last yea
E. Enable committed use on a per- project basis based on the previous year's numbers.
F. Share a Google Sheet and request each project team to send in their estimat
G. Enable committed use accordingly on a per-project basis.

Answer: A

Explanation: 

Enable committed use discounts are applied to the project from which you purchased it. To share the discount across multiple projects linked to your Cloud Billing
account, enable committed use discount sharing from the console. When you enable committed use discount sharing, all of your current active committed use dis-
counts in all the projects under the same Cloud Billing account, including those you previously purchased and new ones you purchase in the future are shared
across your Cloud Billing account. Your sustained use discounts are also pooled and shared across all projects within your Cloud Billing account.

NEW QUESTION 176
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- (Topic 1)
You are working with the head of the IT team and planning the move of computing systems. The questionnaire indicates that they have a reporting application that
runs almost 24 hours every day of the week. When there is extra load, it queues up the processing and executes tasks when there is less demand. Which of these
compute options would you recommend for them?

A. Use a serverless option - App Engine Standard for Flex
B. Use a server-based option - Compute Engine.
C. Use a serverless option - Cloud Functions
D. Serverless option - Cloud Run

Answer: C

Explanation: 
 - Because Compute Engine VMs are the preferred compute option as they are long-running.

NEW QUESTION 181
- (Topic 1)
Which of the following statements is/are correct about Bare Metal Solutions?

A. The network, which Google Cloud manages includes a low-latency Cloud Inter-connect connection into the customer Bare Metal Solution environment.
B. Bare Metal Solution also includes the provisioning and maintenance of the cus-tom, sole-tenancy hardware with local SAN, and smart hands support.
C. Bare Metal Solution uses a bring-your-own-license (BYOL) model.
D. All of the Above.

Answer: D

Explanation: 

Option A is true
You are responsible for the licensing of all of your software. Bare Metal Solution uses a bring-your-own-license (BYOL) model.
Apart from this you are responsible for the software, applications, and data that you use and store in the Bare Metal Solution environment.
Responsibilities Data, including:
- Security and encryption
- Backups
Software and applications, including:
- Installation
- Configuration
- Upgrades and patching
Operating system and any hypervisor, including:
- Configuration changes
- Upgrades and patching Server clusters, including:
- Installation
- Configuration
- Maintenance Licensing
Option B & C is also true.
With Bare Metal Solution, Google Cloud provides and manages the core infrastructure, the net-work, the physical and network security, and hardware monitoring
capabilities in an
environment from which you can access all of the Google Cloud services. The core infrastructure includes secure, controlled-environment facilities, and power.
The Bare Metal Solution also includes the provisioning and maintenance of the custom, sole-tenancy hardware with local SAN, and smart hands support.
The network, which is managed by Google Cloud includes a low-latency Cloud Interconnect con-nection into the customer Bare Metal Solution environment.
The available Google Cloud services include private API access, management tools, support, and billing.

NEW QUESTION 186
......
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